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Nate: There are three sections of the papér A, B & C. Atempt Section — A on the same paper and return it 1o the
- Superintendent within the given-time. No marks will be awarded for cutling, erasing or over writing. Mobile phone etc. are
nol aliowed 1n the exaimination hall.
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20 Mins K Section “A” Marks:

Wrile the correct opiion_ i.e. A, B, C or D in the empty, box provided opposite each part.

If JA] = product of diagonal elements then such a matrixis ....... matrix.
A. Symmeltric B. Skew symmetric  @. Diagonai D. Singular
- ‘)-sa e .
A i B.-i C.1 D-1
[ : 5 . .
|fA—l.i 0 - then My; =
L9 2 (]
CA10 B.—10 c.rs , D.-6
If u = xi + yj is a vector with magnitude |u| » 0 then {5 ----------- vector
| v .
A. Position B. Null C. Norm D. Unit
Diagonals of a parallelogram ............... each other.
A, Parallel B. Bisect . - C. Perpendicular D.CandD
A sequence is a function whose domain is the setof ................... . .
A. Posilive integers - B. Real numbers C. Allintegers D. Rational numbers
P Kxj 2imeom————— ' ;
A.i B.j C.1 D.-1
When the difference between successive terms of a sequence is always the same number the
sequence is called ............. sequence.
A. Arithmetic B. Geometric C./ Harmonic D. Nelthgr type
-Geometric mean between 9 and 16is ................. i
A3 B.4 c.6 : D.12
pI A T———
*= . -
A. n%(n+1) B. Month C. nin+1)’ [ D, winaldy
2 T2 2
5!
E" S aivererencens ]
A5 B.6 C. 10 : D.8
D = . .
0 seaereesrenn e
A7 B. B C.1 D.5
The set of all possible outcomes of a random experiment is called ....................
A. Event B. Sample space C. Compound events D. Mutually exclusive
General tem of binomial expansion (a+b)" is Ty + 1 S TTTTURPT
r-l \r . r+l \I'
Domain of fx) = 1 I8 1ovivercaenreeenins
A
A R-{0} : B.R : C. - w <X <o¢ D.AandC
0 . . .
A function j(x) = Q((‘(; where both JP{x) and Q(x) are polynomial function and Q(x) 20 is called
X . .
.............. function : : ' :
CAEven . . B. Odd C. ldentity * D.Rational

© xvil.

Xviii.

xix,

XX.

o .
Cost.:i.. (a—/}'))" ..... .

A —sin(uw-3) B.sin{u-p) C. cos(a-3) D. - cos{u-f)
COS(270° + 0) = 1ot '
A. sinu B. - sind " C.cos0 D. - cosB
Area of a friangle when the measure of one side and measure of two angles is givenis A =.......
A, 1, sinflsing . B. _I_b,fi_na siny c. 1 1 o sm(x singl
Ia sina 2 sin /T 2 siny D. All the three
Circum radius in terms of measurements of sides of a triangle lhen ReE i
A, fabe B AAT C. e T DAk
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'Time: 2:40 Hours "™
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_ - Section “B” , ’ Marks: 50
Q.2 Attempt any TEN parts. F’art - and Part-n are compulsory AII carry equal marks ' '
L le1 =1+2 and 22 =2+ 3; evaluate |Z1 + Zz|

A=t 0 B;,O- iilc— 0o i th ; .thtCA; AC=-B
0 i E ilro,:_i.oenvenfya =- = -

iil. 1ff=2i+3and q=i-j then find numbers of x and y such that xp + yq = - 4i = 11]
iv.  Find a vector of magnitude 10 and perpendlcular to a =2i-3j + 4k, b 4: —4k.

V. Find the seventh terms of a geometric sequence that has 2 and N2 for its second and third
© terms respectively. :

Vi How many terms of the series 1+ 343, be added to get the sum 40 + 1343

nl n-l

vii. - Solve forn, o =6.¢
F] 2

viii, Find the first four terms in the expansion of (4 — 8x)™2
ix. Iffx) = x* - 4, Find the x and y intercepts of the graph of f(x):

. N P
X IfcosO = 73- and terminal ray of ©'is in 3" quadrant, then find sinE. ;

Xi.  Solve right triangle ABC which y = 90° and &= 632, b = 240.
xii. Find the period of 5 cos3x,

Xiil. Show that 2Tan™"A = tan”"

Section "C" ' : ‘Marks: _3'0

Note: Answer any THREE questions, Each question carries equal marks.

Z
Q3 iz, =-a-3bi, 2 = 2 - 3bi then verify that [-ZQ'—] =L
. ’ Z, Z,
b. If A is a square matrix of order 3, then show that A + Alis symmetric.
Q.4  a. Which term of the arithmetic sequenceis 4,1,-2......... is—777

b. Show that 5 is a factor of 3°™' + 22" where n s any positive integer.
Q.5 a. Minimize f(x, y) = 3x + 4y subjecl to the constraints
2x + 3y >.6. |
Xt+ty<8
X <0
yz0
b Find- the angle O.f. largest measure

a=74. b=52 and Gc=47
" Q6 a. Show that %‘(sin o + sin + siny) = A = area of triangle ABC.

b. Sum the series up {o n terms

P e+ 8



